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General Instructions :

(®)

(1)

(iii)

(i)

(v)

(v)

Question paper contains 37 questions. All questions are compulsory.

Question paper comprises six Sections— A, B, C, D, E and F.
Section A — Question Nos. 1 to 20 are MCQs of 1 mark each.

Section B — Question Nos. 21 to 24 are Very Short Answer Type
Questions, carrying 2 marks each. Answer to each question should not

exceed 40 words.

Section C — Question Nos. 25 to 29 are Short Answer Type Questions,
carrying 3 marks each. Answer to each question should not exceed 60

words.

Section D — Question Nos. 30 to 33 are Long Answer Type Questions,
carrying 5§ marks each. Answer to each question should not exceed 120

words.

Section E — Question Nos. from 34 to 36 are Case Based Questions with

three sub questions and are of 4 marks each.

(vit) Section F — Question no. 37 is Map based, carrying 5§ marks with two

parts, 37(a) from History (2 marks) and 37(b) from Geography

(3 marks).

(viii) There s no overall choice in the question paper. However, an internal

(i)

32/1/2

choice has been provided in a few questions. Only one of the choices in

such questions have to be attempted.

In addition to this, separate instructions are given with each section and

question, wherever necessary.
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(Sgfereredta 99)

1. fr=fafed @ 9 =5 @1 sgudh Su & foe v yg@ o ], 9 98 U T S %

1Y HYH ITE T 1T LA 7 7

(A)  TgUER o, T Huft o G1er TefiaH deh-ieh aTe Ll B |

(B) wEUEHE Ut Icuted o aeft UTEet 3T Hmd 7 Ll B |

(C) wEUEE Sl 79t weermTd Aifa =i T St & T e Il B |
(D) < EULHE Hut T Huf o =1 31 3R qTiETies TeY S 2 |

2. fmferfga deumi & & i a1 yra # U Feeh 3iishe SUctet w2 7
() T il FrEied
B) Hifa smm
(C) TEHE o1 %,
(D) s HaT 3TN

3. faforRga 2o o @ fopaeht ‘S & ww Gurferd 31y’ weius 8 7
(A) A
(B) e
(C) ¥ra

(D) drferEa™
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SECTION - A

(Multiple Choice Questions) (20 x 1 =20)

1.  Which one of the following is a major benefit to an MNC when it works on

joint production with a local company ? 1
(A) MNC shares its latest technology with the local company.

(B) MNC decides all parameters and prices of the product.

(C) MNC shares its institutional policy with local company.

(D) MNC built good and familial relations with the local company.

2. Which one of the following organization is providing data regarding

employment in India ? 1
(A) National Statistical Office

(B) Niti Ayog

(C) National Informatics Centre

(D) Public Service Commission

3.  Which of the following countries has the highest ‘Life Expectancy” at the

birth ? 1
(A) Nepal (B) Bangladesh
(C) India (D) Pakistan

32/1/2 {5 > E‘%’E P.T.O.



4. el § & @ gm gAfm 2 ¢
(A) SNg Y — T AqH
(B) wrcftger - feumem &=
©) whHE - wfEH e
(D) A T — TEEIAT &

5. TfaRaa Tsai o @ fope gwgr srg fr@ @ ¢
(&) dfEerTg
(B) A
(C) 3Ty W™
(D) HACH

6. TafcTiad STRRT 1 HEr™aT & O i TgaH Hife 3R T foshed w1 =2 hIfT :
o I TH TH HEEYY! SIS I HHA B |

e WEHAFIAR I

o 38 I % fore 32 Hiww it ueh o fordt Raeft 4o <1 rrarwrehar it 2 |
o T fTT 50 & 75 cm afifeh It hY STerwesha &1 2 |

ferehea

@) T

(B) W

(C) =&t

(D) =T
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4.  Which of the following pair is correctly matched ? 1

(A) Alluwvial Soil —  Gangetic Plain
(B) Black Soil —  Himalayan Region
(C) Arid Soil —  Western Ghats
(D) Laterite Soil —  Desert Area
5. In which of the following States Tungabhadra Dam is located ? 1

(A) Tamil Nadu

(B) Kerala

(C) Andhra Pradesh
(D) Karnataka

6. Identify the crop with the help of the following information and choose the

correct option. 1

. This is the second most important Cereal Crop.
. This is a Rabi crop.

o It requires a cool growing season and bright sunshine at the

time of ripening.

. It requires 50 to 75 cm annual rainfall.

Options :
(A) Wheat
(B) Maize
(C) Rice

(D) Sugarcane
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7. TmAfaRad i Sessies s o safera Hifse it o fames o1 =em Hifv
I  Sied g8 are B ST=gH GgTehly <hl T |
IL. g st i firr agl o ot fade faveag foer |
1. =R fmfar 218 w1 1, Icared & foiu ‘il ogd ggfa’ o1 319mr |
IV. ufyet srefeqawensii 3 @g &l ‘G-77 T8’ < €9 H Tifed 6T |
fremea
(A) IIL II,13WIV
B) I, 1L, III3WIV
(C) IV, III, II3mI

(D) IV, II, III 3w I

8. Trmforfad # & forem wRa ® waet et S7R SedTa e <hl T T 7
(A) I.AXEL.
(B) geuIH €@
(C) SRS w&n
(D) o

9. frafaRea 4 @ = @1 uge] . 3. et 3 .. quTET ARre % oie § THH
o 7

(A) TR | i -oqeee R oig forg |

(B) HfgemaTi & el T ThIST ST |

(C) TTeepfceh forTHd & SR H ATkl s@HT |

(D) WA ol ITeh! TR TardaIdl o foTe It T |
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32/1/2 ‘@%ﬁ




7. Arrange the following in chronological order and choose the correct option : 1

I The Bretton Woods conference established the International

Monetary Fund.
II. The Second World War broke out between the Axis and Allied
groups.

III. A car manufacturer Henry Ford adopted the ‘Assembly Line Method’

for production.

IV. The Western economies organized themselves as a group — ‘The
Group of 77.
Options :

(A) TILII,Iand IV
(B) I IL I and IV
(C) IV,IIL Il and I
(D) IV,IL III and I

8. Who of the following set up the first Iron and Steel industry in
India ? 1
(A) J.R.D. Tata
(B) Purushotam Das
(C) R.G. Saraiya
(D) Thakur Das

9.  Which one of the following aspects was common between the writings of
B.R. Ambedkar and E.V. Ramaswamy Naicker ? 1

(A) Wrote on the caste system in India
(B) Highlighted the experiences of women
(C) Raised awareness about cultural heritage

(D) Motivated Indians for their national freedom.
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10. SHEfRT % ®qe 6 fefefiga fagwast o1 39 ggw & gy fiem fifse st g4

Torehea o1 = ShifTe 1
fergtean e

a. g SNk I  wEel

b. AA-BY Had II. Feheat Sl aamd

c. YA ufl I AT II. it

d. qEER IV. 31eel e

fererea :

a b ¢ d
A I I I 1v
@ Iv III 1 1II
© I 1 1Iv III
M) I 1v 11 1

11. ffafed & & @ w1 amen it S & gefd 31 2 7 1
A) foarg
(B) g a
(C) farEa
D) fm
12. = &1 s, 3rfirwes (A) 3 SRer (R) few mu 8 | weat i afe it w@@t fasmen 1
Wﬁﬁﬂl: 1
afirRem (A) : i o faftm fewal 9 wfeemd mfed g3 ot @ atfeeri o forg stigiem
o |
HRUT (R)  : TEc3T & SMEieil 1 3233 SABIId 3T UTHaETen Stia 8 off Jaear o
2l
fererea :

(A) (A) 3R (R) g1 &2l € 3 (R), (A) 1 ot e 2 |
(B) (A) 3R (R) gH1 @&l &, W (R), (A) 1 Tt e T 2 |
(C) (A) T&l 2, Wfehd (R) Totd 2 |

(D) (A) 7T B, Wfehd (R) &1 2 |
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10. Match the following attributes of allegory of Germania with its

significance and choose the correct option : 1
Attributes Significance
a. Broken Chains I.  Heroism

b. Breast-Plate with eagle II. Readiness to fight

c. Crown of oak leaves III. Strength
d. Sword IV. Being free
Options :
a b c d
(A) I IT 111 v
B) 1V I11 I II
©) 1II I v II1
(D) III IAY II I

11. Which one of the following matters do NOT deal with the ‘Family Laws’ ? 1
(A) Marriage
(B) Adoption
(C) Inheritance
(D) Finance

12. Two statements are given below as Assertion (A) and Reason (R). Read
the statements and choose the appropriate option : 1

Assertion (A) : Women in different parts of the World organized
themselves and agitated for equal rights.

Reason (R) : Women's movement aimed at equality in personal and
family life as well.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is the not correct explanation of (A).
(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.
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13. frafafad @ @ =i @1 auehreia favea § @R &1 qe8 AR I ?
(A) dHTITE TR
(B) FayTi-es TTad
(C) | THR
(D) WAThdI=eh ThR

14. T¥-A 3 T9-B =1 fiyem hifse 37t a2 faenes o1 ==a hifs

wWa- A wWa - B
(ferera) (F=h / fers=r)
I 1. GHadl gt
1. gfe 2. wagH
1. foamg 3. THgH

A 4 3 1 2
@) 3 4 1 2
@C 4 1 3 2

M 2 3 1 4
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13. Which one of the following is the most popular form of government in the

contemporary world ?

(A) Dictatorial Government

(B) Constitutional Monarchy

(C) Military Government

(D) Democratic Government

14. Match Column — A with Column — B and choose the correct option :

Column - A

(Subjects)
I.  Defence 1.
II.  Police 2.
III. Marriage 3.

IV. Computer Software 4.

Options :
I I1 I11
A 4 3 1
B 3 4 1
C 4 1 3
D) 2 3 1
32/1/2

Column - B
(List/Subjects)
Concurrent List
Union List
State List

Residuary Subjects

IV

(> o
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15. < €1 YA, 3AhepeH (A) 3R Srer (R) fow e @ | et o ufgu i wE fashed @t
Wﬁﬁﬂl:

arfireRerd (A) : TS TAhad hl AR |

&R (R) : FATE Taifreh qfiert w1 foed® &td & |
forerea

(&) (A) 3T (R) G 7 & 3R (R), (A) ot Amen 2 |
(B) (A) 3R (R) gl ®El €, W (R), (A) %! Hel AT & 2 |
(C) (A) 5@l 2, difehd (R) T @ |

(D) (R) TTerd &, Afehd (A) W&l & |

16. @al % gear W feferlaa At w foam Shifse 3t @&t fased w1 == hifsn
I. I8 Alehda bl Holgd AT 2 |
II. I AT THgE! o s ey i HH HT 1 |
I11. IE TSiiferen fRuear < gifeaa war? |
IV. I8 el & o amferes — smfefes e ofmar 2 |
ferepeu
(A) I, II 3R III
(B) II, ITI 3R IV
(C) I, III3RIV

D) I, 13RIV
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15. Two statements are given below as Assertion (A) and Reason (R). Read

the Statements and choose the correct option : 1
Assertion (A) : Elections are the spirit of democracy.

Reason (R) : Elections expand Political participation.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is the not correct explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

16. Consider the following statements on Power Sharing and choose the

correct option : 1
I. It deepens democracy.

II. It helps to reduce conflicts among social groups.

III. It is a way to ensure political stability.

IV. It brings socio-economic struggles.

Options :

(A) I IT and III

(B) II, III and IV

(C) L IIT and IV

(D) 1,1 and IV

32/1/2 {15 > E‘%’E P.T.O.



17. fr=fafed 9 @ @ a1 = 1 siv=nfes wa g 2 1
A) Feder
(B) =T
(C) dmghi
(D) @Eshl Hiufd

18. <hIdT T e H i Hid @ | 98 FHafia €9 8 7€ o 37 ° 909 36 Hdl @ | a7 &
JTEATET 38 HhR g Fgifed femi & srgem glawmd fierd € | 1

i1 fFferiaa & & fora e § R S R 7
(A) Tfsa &
(B) 3rETsd &=k
(C) wrefirh &=k
(D) =g &

19. 9= <ifve fe wh &9 § 9) qfer & 3R 9eh! mfds 3™ T 10,000, T 20,000,
% 30,000 3R T 40,000 g ot & 6 3hed 311 fopat arft ? Fm A a @t fpea gfg: 1

(A) 25,000
(B) 30,000
(C) 20,000
(D) 10,000

20. TrerfrRad 3 & = @ Jer gafaa g ¢ 1
(A) wuftes &5 —  TEIW
B) fodtees eores — g
(C) qaEF&ms — Rl AR
(D) =g & —  wieft
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17. Which one of the following is a formal source of credit ?

(A) Relative
(B) Trader
(C) Money lender

(D) Cooperative Society

18. Kanta works in an office. She gets her salary regularly at the end of every

month. In addition to the salary, she also gets other benefits laid down by

the government.

In which of the following sector Kanta is working ?

(A) Organised Sector

(B) Unorganised Sector

(C) Primary Sector
(D) Quaternary Sector

19. Assume there are four families in a locality. If the monthly income of each
family is ¥ 10,000, ¥ 20,000, ¥ 30,000 and % 40,000, then what is the
average income of the locality ? Choose the correct option from the

following :

(A) T 25,000
(B) 30,000
(C) T20,000
(D) 10,000

20. Which one of the following pair is correctly matched ?

(A) Primary Sector
(B) Secondary Sector
(C) Tertiary Sector
(D) Quaternary Sector

32/1/2

Fishermen
Priest
Basket Weaver

Gardener
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21.

22.

23.

24.

25.

26.

27.

TuE-@ (4x2=8)

(1T eTg -3 )
(a) FUIH TATETG hl AR ST & €9 H ST hIT | 2
IOG ||
(b) 1848 T E % gk A % GUHT 6l SdIHIh R TS Mo & ded |
T T | 2
aifen fate Wt < fongl < formraanati bt samen hifsie | 1x2=2
Tfge gerhientur o foiw YT 9eeh” gRT 331U U fohedl @ sheHi shi Sooi shifvg | 2

HedT it fob 3119 7w e g | feredl & fafafert w61 gema ifSte s saent @ar 8

T TTaTTERIT <t 3T Sig™ o foru fehu S =T | 2
Qg - 7 (5 x 3=15)
(19 -3 u9A)
ST H g At (Fat) 3t ST 3 YhTRI i ShY ST SeRI ? ST hiIfT | 3
fafamtor 3en < wEw 6t =men Hif | 1x3=3

“forehra <h1 IO o T9H TR Weh(d Ta forentdl ! STsham W s 1T 394 33d & | 3eTauli
Hfga same HIfT | 3
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32/1/2 Eﬁ%ﬁ



21.

22.

23.

24.

25.

26.

27.

SECTION - B

(Very Short Answer Type Questions) 4x2=28)
(a) Explain Romanticism as a cultural movement in Europe. 2
OR
(b) Explain Frederic Sarrieu’s dream in the context of democratic and
social republics in France during 1848. 2
Explain any two features of Primitive Subsistence farming. 1x2=2

Mention any two steps taken by Indian Government for the women

empowerment. 2

Imagine that you are the village Head. Suggest any two activities that you

think should be taken up to increase the income of the villagers. 2
SECTION - C
(Short Answer Type Questions) (5x3=15)

How did the printing of visual material lead to publishing practices in
Japan ? Explain. 3

Explain the importance of manufacturing industries. 1x3=3

‘The question of sustainability of development raises many fundamentally
new issues about the nature and process of development.” Explain it with
examples. 3

32/1/2 E‘%’E P.T.O.



28. WA H TeHITeh ol § IR o foru feregl e srmai <t =amen shifsTe |

29. (a) YR foid sh o fopgl 1 1t ot Tqm HIfT |
BbC)
(b) I G TR I TS 5T o Hag H ofhi shi yfirehT hi = Hifv |

Qs -9 (4 x5=20)
(St -3 w9A)

30. (a) WA shi 3R 3R Temifaes feafa W weum foava g o wumai o1 faveryo Hifs |
AU

(b) 194 w& % RET § YR H PTG & fIehrdl T clreheperatt 3T Scfient <t ftreet 1
Tergetyor FifS |

31. (a) ‘UNGEA 3R HaR T G o I @ | 39 e i g FHIT |
ST
(b) WA & FAUET TR 6! forgraarat =1 fageiwor Hifs |

32. (a) ‘ot g o @R o e % fore W wmel ? 17 39 wem i Sqrew wfga gfy
hifoTT |

JAYA

(b) “cArehaa gt graTer-3mfie 3t ToHifaes TReatl o1 g™ o Hehat B 17
Tehi dfed 30 HeH H1 gE Hifa |

33. (a) IVHIRIUT fohH TehR U TESTRATHY STTURM 2 ? T I |
ST
(b) YRl T ScdTed e fafire <o 8 it feran Srar @ 2 smeE i |
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Explain any three efforts done to reform political parties in India.

28.
29. (a)
(b)
30. (a)
(b)
31. (a)
(b)
32. (a)
(b)
33. (a)
(b)
32/1/2

Explain any three functions of the Reserve Bank of India.
OR

Explain the role of banks with regard to money which they accept
from the public.

SECTION -D

(Long Answer Type Questions) (4 x5=20)

Analyse the implications of First World War on the economic and
Political situation of India.

OR

Analyse the role of folklore and symbols in the revival of nationalism
in India during late 19th century.

‘Transport and Communication are complementary to each other.
Support the statement.

OR

Analyse the features of International trade of India.

“There is an overwhelming support for the idea of democracy all over
the world.” Support the statement with examples.

OR

“Democracy can address all socio-economic and political problems.”
Support the statement with arguments.

How 1is globalization a multi-dimensional concept ? Explain.
OR

How is production organized in different countries in globalization ?
Explain.
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WE- B x4=12)
(SR8 nenia 99)

34. feuu gia =i ufeu 31k 3ges A= few o ga yea1 1 3o ferflge 4
WRA # fereriienton
I hg 3T TT GThR F ThAT diehd AT BRI bl & SITdt 8 o 38 9T <l
ferchgiehtor e @ | farehgiontor o f® gt @ a8 2 foh 31 gei 3t gmenati
froern T« w & sfear @1 @ 2 gehar 8 | AT 1 379 3elteh bl HHENSAT hl
SR UL B 2 | AT S 39 &1 1 i 3T SRR BId1 & o 49T Sal @ R S
3R Tt <1 3Afereh pareTaT & ST fohe g TS <17 Hehel 2 | $6h ST T &R

G AR ! Bl § e qrfier §9MT W S9e 8 ST @ | S99 AlhdiiEes Wriier shi
3Ted TSdl 8 | AT ThR <hl AT S-3THT & Slehdiiaeh Hgid ol arfdes s

&1 g9 37T dhT & |

Terehdientur <ht setd gAR Gfea 8 off w&ierr ) 718 | 39 o1e 9 T 30T I8k
T T G o Torehgientor <l o3 RISl 55 & | Ot Tswil | 7T o TR W UM g=mRdt 37
U H FRaTfereRtatt h TmeEr i 1 off | W IR UsT SRl o dY e § @ mn

o |
(34.1) <irhaa | “Tarehiehtor 1 TI8 HIfST | 1
(34.2) iehad H AT TG-ITEH o Ha i ¥ iU | 1

(34.3) farehgientur & feTt WA TTHR gRT 33TC MU fohedl S SR T AU HITW | 1 x 2= 2
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SECTION - E
(Case Based Questions) Bx4=12)

34. Read the given extract and answer all questions : 4

DECENTRALISATION IN INDIA

When power is taken away from Central and State governments and
given to local government, it is called decentralization. The basic idea
behind decentralization is that there are a large number of problems and
issues which are best settled at the local level. People have better
knowledge of problems in their localities. They also have better ideas on
where to spend money and how to manage things more efficiently.
Besides, at the local level it is possible for the people to directly
participate in decision making. This helps to inculcate a habit of
democratic participation. Local government is the best way to realise one

important principle of democracy, namely local self-government.

The need for decentralisation was recognized in our Constitution.
Since then, there have been several attempts to decentralize power to the
level of villages and towns. Panchayats in villages and municipalities in
urban areas were set up in all the States. But these were directly under
the control of State Governments. Elections to these local governments

were not held regularly.
(34.1) Explain Decentralization in democracy. 1
(34.2) Explain the importance of Local self Government in democracy. 1

(34.3) Describe any two steps taken by Indian government for

decentralization. 1x2=2
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35. feu T Hia i ufeu 3Tk 39 = fou wet o1 3w foaflaw

et ¥ foro

T IYAIHT AT HA T Teh qliehT fITaAT bl @ | 61 T o9 ST 2, fommam fafir=
ITATGT I TEU SR A S ¢d & | o AR ol €I 96 ¢d 8 3 T F&d ger aht
20 & | 3 5w Ut g i ¥ el = s T w1 gu E | srEen, ghesa,
B, damd, Tehfast % W W, w9 w8 fomm =1 gu # | dfeT IR & sfoem §
IS geert <@ a1 Ul Fetdr 8 T siefiesr o yeara & € fommoEt 3 fafie sl
TSR BT et § 3T weh Foft IUHIhT H&hfer T H 31t yiftreet foms 2 |

e BT o IEAfrEt 3 YR § ST SoT I fohem a1 F U % Sgal W AAad o
& | T T HRIST I8 BT o7 b TeR sl st 1 T 9 Icare I S8 Il T St
oft | oiaet & <l Y e 1 Wik oft o1 | W TRl Sleet W HR el # BE 3
et forat fewts <ar ot wlieri i wuet wiied # foret atg w1 gt &l ar o |
(35.1) TSI GRT WA H Swq3i o1 fasmoe fope wepm foka Sram e 2

(35.2) 3fufafireh Wd & R TRt < wTem & 7T 3uWIeHT hd 4 7

(35.3) ITEniieRtur o U Tt o dreaw & few e EewT <t sme Hifw |
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35. Read the given case and answer the questions that follow : 4
Market for Goods

One way in which new consumers are created is through
advertisements. As you know, advertisements make products appear
desirable and necessary. They try to shape the minds of people and create
new needs. Today we live in a world where advertisements surround us.
They appear in newspapers, magazines, hoardings, street walls, television
screens. But if we look back into history, we find that from the very
beginning of the industrial age, advertisements have played a part in
expanding the markets for products, and in shaping a new consumer
culture. When Manchester industrialists began selling cloth in India, they
put labels on the cloth bundles. The label was needed to make the place of
manufacture and the name of the company familiar to the buyer. The
label was also to be a mark of quality. When buyers saw ‘MADE IN
MANCHESTER’ written in bold on the label, they were expected to feel

confident about buying the cloth.
(35.1) How was the marketing of goods done in India by the British ? 1

(35.2) How were the new consumers created through advertisement

during colonial India ? 1

(35.3) Identify the messages conveyed through advertisements during

industrialization. 2
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36. feumu Hia i ufeu 3tk 3w A= fou oyt o 3o fofaw -
Felt HETEHT < TRET0T
3T okt <h ToTQ Aol Ueh STURYT STaeaehd] @ | TE TIIaET % Toish Hael —
HfY, I, TREe, T 9 oie] AERIHAS H gfd & g He & F=w &
JETIRAT B | TAAAT-STH % qved ferenfara 3mfefes fosha <t AeH3t i =me] T@H
o 7w Sott <Al oSt AT 6t STTawehdl off | Herea®d R ¥ | il o G4} ThR 1 ST
- s @ e |

39 I8yl 7 Sl < foeh % Taq it ant & foefad S 6 qid Sreavahd
B | Sl GO hl ATt 3R TRttt St HH1EET b S@an YA Had gl S & &t
AR E |

A H RA forvd o STeadH SHeiied ouli § 1 ST 8 | 6 ol o St sereH
o ARG SUANT b FIT T T=gul SUNTH STIHT BT | eTetoned Teh STHT&eh AN
Y T g9 ITAETT o o1 3T a8 <hl 3T9ETT TTali-eh a8 o1 SUFNT ohich, SId JANT 7 &l
@ 2t foteft 9 s foRa s9rq S aTel ITHN 6 TR ¥ qUT IR-URATE St
TTEHT < ST & gH 3791 BIel MM ¢ Hohd & | STREHR Tl hi sod & FeAt Iedie

I

(36.1) Had WU a1l Fad e St Hoft FAT 8 7

(36.2) QAN H Foll hl @ i 5g W8 ?

(36.3) “Hll bl S &l Sl bl 3cdTed & |7 T8 i |
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36. Read the given case and answer the questions that follow : 4

CONSERVATION OF ENERGY RESOURCES

Energy is a basic requirement for economic development. Every sector of
the national economy — agriculture, industry, transport, commercial and
domestic — needs inputs of energy. The economic development plans
implemented since independence necessarily required increasing amounts
of energy to remain operational. As a result, consumption of energy in all
forms has been steadily rising all over the country. In this background,
there is an urgent need to develop a sustainable path of energy
development. Promotion of energy conservation and increased use of
renewable energy sources are the twin planks of sustainable energy. India
1s presently one of the least energy efficient countries in the world. We
have to adopt a cautious approach for the judicious use of our limited
energy resources. For example, as concerned citizens we can do our bit by
using public transport systems instead of individual vehicles; switching
off electricity when not in use, using power-saving devices and using non-

conventional sources of energy. At last “Energy Saved is energy produced”

(36.1) Why is sustainable energy a key to sustainable development ? 1
(36.2) Why is consumption of energy rising in all over India? 1
(36.3) Explain ‘Energy saved is energy produced’. 2
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Qug - = 2+3=5)
(ATt anenfi| a9A)

37. (a) WRA o feu U ToHifaes TET-TFfE W g TEl (A) 3R (B) & ®9 4 3iferd fau
T2 | € TS AR Shl HEdT 9 32 UgT-Y 3T Ik qrF Wik 78 [@iat «w
3o TE! 9 g | 2

(A) 98 T & YR T i o1 srferaee fadst 1920 # gam o |
(B) 9% T WTE1 HETcHT Tielt F THeh I ST T |

(b) WA % g W@r-AAfE | ffafaa § @ fredl @ 1 Sugw ol @ guisd 3t
3ok I forfaw 3
@) Fps
(i) TR AT Eef
(iii) 9OT WG SoHFIATSI UTeh

(iv) T A v

e : Fae givanfem wlenfiet & fore gy wem 37 FH W E | (5x1=5)
Teregl utar wea1 o I EIRT ;

(37.1) 39 TA 1 W feTRaw et Wt Wi i w1 Srfeaee fader, 1920 # gamen | 1
(37.2) 38 U o1 A1 fetfaw St mefisft ¥ e 1 arel | 1
(37.3) 3T TIM T T TIRGT ST&T Tl siiey fera 2 | 1
(37.4) 39 TT o1 I forRaw sref arrqe awm] g fea 7 | 1
(37.5) 3| T o1 0 ToIRaw srgf qor |iges= aretie dTeh fRa & | 1
(37.6) 39 T &1 A4 forRaw Srgt wrrgiv agsl va- fem 7 | 1
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SECTION - F

(Map Based Questions) (2+3=5)

37. (a) Two places (A) and (B) have been marked on the given outline political
Map of India. Identify them with the help of given information and
write their correct names on the lines drawn near them : 2
(A) The place where the session of INC was held in September, 1920.

(B) The place where Mahatma Gandhi broke Salt Law.
(b) On the same outline Map of India, locate and label any THREE of
the following with suitable symbols : 3
(1) Hirakud Dam
(11) Tarapur Atomic Power Station
(111) Pune Software Technology Park
(1v) Paradip Sea Port
Note : The following questions are for Visually Impaired
Candidates only in Lieu of Q. No. 37. (5bx1=5)
Attempt any five questions :
(37.1) Name the place where the session of INC was held in September,
1920. 1
(37.2) Name the state where Gandhiji broke Salt Law. 1
(37.3) Name the place where Salal Dam is located. 1
(37.4) Name the state where Tarapur Nuclear Plant is located. 1
(37.5) Name the state where Pune Software Technology park is located. 1
(37.6) Name the state where ‘Paradip’ Sea Port is located. 1
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